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Between the Base and the Emitter, there is a pn junction; thus
looks like a diode. Across this junction in active mode, DC
operating voltage is ~ 0.7V, just like a diode.

When the current begins to flow, a LARGE number of electrons
from the emitter region enter the base region.

Between the Collector and the Base is a pn junction as well. In
active mode, this junction is either reversed biased, or zero bias
(VCB =0).

Since the Base-region is so thin, the carriers from the emitter
region are swept into the collector region.
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